PUZZLES ~ BRAINS

8 BY 8 HITORI (NO. 1 AND 2)

SHADE (OR BLACK OUT) CELLS SO THAT THERE ARE NO DUPLICATE NUMBERS IN EACH
ROW AND COLUMN. SHADED (ELIMINATED) CELLS MAY NOT BE HORIZONTALLY AND
VERTICALLY ADJACENT. THE REMAINING WHITE CELLS MUST FORM A SINGLE
COMPONENT AND NOT BE ISOLATED.
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3

8
7

1

1
5

8|8 |7

1

417165

1

1

51614173

3143

213275876

518|718 [7[2(3]5

2 (713121413

4 (8 (2|5|7|6|7]6

3 (7 1(15]7

1

71414188

0808 NO. 1

7

1

5
7

6

1
5

1

1

216|7]|6

1

6148

1

714 (6 |7|6|8|7|6

3 (25|84

7167

2171412636

8813344

7

816 726|634
3318658415

0808 NO. 2

www.puzzlesandbrains.com

copyright:



